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The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as for as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমাশ্নের ক্ষেশ্নদণশক। 
পরীিার্ণীশ্নদর যর্াসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

 

1. Answer any five of the following questions:                 2x5=10 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে পাাঁচক্ষি প্রশ্নের উত্তর দাও:                                      

a) What is meant by distribution of a term in a proposition? 

বচশ্নে পশ্নদর বযাপযো বিশ্নে কী যবাঝায়? 

b) What is it for two propositions to be logically equivalent? 

দুক্ষি বচে যযৌক্ষিকভাশ্নব সমমাে কখ্ে হয়? 

c) What is a singular proposition? 

ঐক্ষকক বচে কাশ্নক বশ্নি? 

d) What is a propositional function? 

বাচক্ষেক আশ্নপিক কাশ্নক বশ্নি? 

e) What is empty class? 

শূণযশ্নেক্ষণ কাশ্নক বশ্নি? 

f) If ‘A’ is known to be true then what is the truth value of ‘A⸧ (B⸧B)’? 

‘A’- যক্ষদ সেয হয় োহশ্নি ‘A ⸧ (B⸧B)’ – এর সেযমূিয কী হশ্নব? 

g) What is meant by ‘Fallacy of denying the antecedent`? Give an example. 
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h) When an argument is valid? 

কখ্ে একক্ষি যুক্ষি ববধ হয়? 

2. Answer any four of the following questions:                            5x4=20 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে চারক্ষি প্রশ্নের উত্তর দাও:                                     



a) State the rule or syllogism the violation of which leads to existential fallacy. Explain the rule with 

the help of a suitable example.                                       4+1 

েযাশ্নয়র যকাে ক্ষেয়মক্ষি িঙ্ঘে করশ্নি অক্ষিত্বমূিক যদাষ হয়? একক্ষি উপযুি উদাহরশ্নণর সাহাশ্নযয বযাখ্যা কর। 

b) Using the truth tables to determine the following statement forms as tautology, contingent or self-

contradictory:                        2⅟2 x2 

সেযসারণীর সাহাশ্নযয ক্ষেশ্নম্নর বচোকারগুক্ষি স্বেঃসেয, আপক্ষেক ো স্বক্ষবশ্নরাধী ো ক্ষেণণয় কর: 

i)   ⸧   ⸧            ⸧    ⸧          ii)                                  

c) Determine the validity of the following argument by means of Venn diagrams: 

সেযসারণীর সাহাশ্নযয ক্ষেশ্নম্নর যুক্ষিক্ষির ববধো ক্ষবচার করঃ 

All flowers are beautiful, some pictures are beautiful; therefore some pictures are flowers. 

সব ফুি সুন্দর, ক্ষকছু ক্ষচত্র হয় সুন্দর; অেএব ক্ষকছু ক্ষচত্র হয় ফুি।  

d) Symbolize each of the following using logical notation of propositional function and quantifiers: 

ক্ষেম্নক্ষিক্ষখ্েগুক্ষিশ্নক বচোশ্নপিক ও মােক বযবহার কশ্নর প্রক্ষেকাক্ষয়ে করঃ             2⅟2 x2 

i) Any apple is sweet if it is ripe. 

যয যকাে আশ্নপিই ক্ষমক্ষি যক্ষদ যসক্ষি পাকা হয়। 

     ii)  If at least one person is a Philosopher then Socrates is a Philosopher. 

             যক্ষদ অন্তেঃ একেে বক্ষিও দাশণক্ষেক হে োহশ্নি সশ্নেক্ষিস একেে দাশণক্ষেক।  

e) Explain with the help of an example why ‘O’ propositions cannot be converted. 

উদাহরশ্নণর সাহাশ্নযয বযাখ্যা কর যকে ‘O’ বচশ্নের আবেণে সম্ভব েয়। 

f) Determine the validity of the following syllogism by means of Venn diagrams: 

যভেক্ষচশ্নত্রর সাহাশ্নযয ক্ষেশ্নম্নাক্ষিক্ষখ্ে েযায় অেুমােক্ষির ববধো ক্ষবচার কর: 

This syllogism cannot but be valid, for it has three terms like all valid syllogisms. 

এই েযায় অেুমােক্ষি ববধ ো হশ্নয় পাশ্নর ো, কারণ ববধ েযাশ্নয়র মশ্নো এরও ক্ষেেক্ষি পদ আশ্নছ।  

3. Answer any one of the following questions:                          10x1=10 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে একক্ষি প্রশ্নের উত্তর দাও:                                      

a) Prove the invalidity of the following arguments by truth value assignment method:                    5+5 

সেযমূিয আশ্নরাপ পদ্ধক্ষের সাহাশ্নযয ক্ষেশ্নম্নর যুক্ষিগুক্ষির অববধো প্রমাে কর : 



i) M ⸧ (N v O)                                    ii)                 

N ⸧ (P v Q)                                               ⸧      

Q ⸧ R                                                       ⸧     

               (R v P) /       
b) Construct formal proof of validity for the following argument:          5+5 

ক্ষেশ্নম্নর যুক্ষিগুক্ষির ববধোর আকারগে প্রমাে গঠে কর : 

i)   ⸧                                                           ii)          ⸧      
  ⸧                                                                               

                                                                                 
                     ⸧          ⸧     
                             /     

c)  Explain and illustrate different kinds of opposition of Propositions. 

                                             ।  


